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Unit 3: Solving Equations

CHECKING YOUR ANSWER

Example: Frodo solve the following equation and found out that x = —p

Check if his answer is right.

4x + 25 =17
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Determine if each of the following answers is right by checking.

1.
2.

3.
4.

Steps:

Write down the equation
Draw a vertical line where the
equal sign is to make a T-chart
Sub the answer in for x

Solve each side separately to
see if they are equal

If both sides are equal, the
answer is RIGHT

If both sides are not equal, the
answer is WRONG

a)x2+9=16p Answer x =5 b)§_1=13 Answer x = 36 C)5x—2=18+4x Answer x =20
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SOLVING EQUATIONS WITH BRACKETS —
1. Apply the distributive property
2. Solve for x

1. Solve the following equations:

Teacher Your_Turn —

30 —2)=9 sditibutie b |a)4(5+x) =32 % ﬁff’“"”“ b) 40 = 10(3x% — 8)  * Listribuytivd law
x—6=9 «+b+t bothside | T20 44X =-32 4 Z20 frow 4o=39x*-80 < +890 +o both sd
t6 t6 -20 ~2° both «des | 440 +80
.3_’( =15 + - both s(des 53'3 ﬂz ‘.i-l B b“:r side 120 = 30)(2" ~ =< hoth si'des 63‘30

> 3 « " 3 3o
=21 = Tl
2= »x=1
2. Solve ggelﬁc_k the following equation.
2(5x+4) =68 +
g,}/'oh‘i =63 }’/ﬁ(ﬂﬂ) =<2 LASSRS, X=6.
19% = 6o .9.(5‘-4 +u) 67
lo (o -2(30 .Hd
( =% 2 = 203y)
SOLVING EQUATIONS WITH LIKE TERMS Steps:

1. Solve the following equations:

1. Collect like terms
2. Solve for x

Teacher Your Turn
3%t 24 59+7 =49 aQ)—12=-22—-x+2-3x b) 6xf + 1= x5 + 5+ 3xf = 206
3x15x+2+F=4q —12= —X=3x-22+7 6x* —X*+3x14 145206
-12 = —Yyx~20 9t it = 204
3":‘2 "'%’2 +20 +20 -6 6
¥ =-yx .&(L'-'-lgo
=0 7 :::— s &
s € \]’kT{??
=27 = (>3 7
( ¥=-2
2. Solve and check the following equation, You can wic Hhis vquetbn as well
10x—12—-3x=10-1
Sk'f( Fy-l2 =9 5J’/“PZ [Ox-(1-3x = lo =1/
e +12 42 = | RS
lofs)42-33) [ 9
7xz=2| _
= = =30-(2 9
= l’? "q _: X ;.‘ J
s = RS
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PRACTICE

1. Solve the following equations:

a)5Bx+1) =35

—
b) 3(4x — 3) = —69

I5xt5=35" (2% -9 — 6%
—4— =5 +9 +9
[Se= _3’_" 12% = —¢o
15 9 -TZ: TQ_:
=% xX=-$
A N\
T)fsﬁxz\—S) — 33 d) 2(8 + 2x2) = 212
125> -/5=33 lo+4x- =22
tis— + ~le ~le
A= (3 4xt=1%
T = Y Y
[ = ]T, \, x‘:! Y9
X =2 X=1
2. Solve each of the following equations:
a) 12x+4 —5x+1=19 4,?,0,@54 b) x +9 + 4x = —31
I2x-5x44t] =9 & Collect ltx #rmy X+4etq=-3/
5 =19 Lx -
?wts__ 1 K:{-‘;? _%/
_;_K --ﬂ 5% = {0
= 7 T =
X =2 x=-&

C)7x% + 11— 2x2 - xf — 4 = 61
Aot -2+ x -4 =61

6x*++ =6l
- -

= 54

¢ 6
ot
z X=3 ;

d)14=9x+15-7x -1

Iq= X=X +15—/
I =2x+1¢y
=ly =~y
0=2x
z 2
0 -x
X=0
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3. Solve each of the following equations. Complete the maze by following your answers in order.

| 13 . 21 5
START > ; 7 | 10 | _‘
I_ 12 9 &
5 2(}_ 4
2| | 2 | (2
26 11
6 I‘ L 7 28
B, 4 2
9 0 |
NETo R
7 20 | 20
a) x2—40 =129 b) 9x + 25 = 34 c)2+33=37
tyo o ~25 27 2 -
4-q R 33
X a-l;‘? X= 1
J—L ? 9 Qa%:‘/‘l
X =/3
(&;/7 Z ‘<=9Z
_ (— A~ N\
d)2(x—5)=-16 e) 4(3x — 1) = 80 f) 20 = 5(4 + 2x)
—lo="16 12x-¢ =%0 20 =20 +lo
'zxﬂa tlo ‘W +V e T X
2 + lo lo
X =7
(X=73 0 =x
¥ =2
AN =
g) 11(x — 2) = 22 h) 2(x + 8) = 38 i)5x +3—x—2=41
[lw=-29 =22 Ax+16 = %% yw +1 =yJ
ly-f?{.qz.'. +2u_ —leo b - =
fx = 44 2x=1r yx =40
" I v Y
=f(f
( K=y ! /

EX:O?
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)3x—14—2x=9 K) —7x + 18 + 3x = —30 )-y+ 18+ 6y = 43
3x-2x-14 =9 ~F+3xtlf =30 Yteyts =43
- = -[/!('Hg:-JO Sytig8=43
J(_’I‘g -—I-ﬁ; -l H7? d*i’&’ (3
K = U= - 5y=25"
Z X = lz_Z /J =5
<\ —

m) 5(x + 1) + 3(3 — x) = 42
Sx ST+ A-3x,=42
Fx-3x+l4 =47
2y +lYy =¢2

-1y -y

2x = 2’8

2

2

i(:-.—./(,

N~ .\
n) 13(x + 2) + 2(7 — 6x) = 65
1By +26+ ¢ -1k =65
[3v =12 + 4O =65

Xt4o =65
-4o0 -Y4o

0) 5% + 14 = 3x — 10— x,= 21
5x - 3x —x +y-10 =2/

X+ =3/
_q “L/

( X:/?‘Z

2 2 —
P) =9 7xZ + 41— 5x2 — 10 = 822

-5k -9+yl —lo =822

Ax*122 =822
- 22 -2

2x* = 700

i =5

(=

X = 2~
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